Whitman College 
Econ 107 
Exam 2 
October 14, 1998 



Write all of your answers on the exam. Show all of your work. 





1. (a) (10pts) Consider a particular firm with a fixed size of capital in the short run. The firm's total product curve is graphed below. Draw the firm's marginal product of labor curve in the space directly below the total product curve. 

(b) (5pts) On each of the graphs below, label with an "x" the point where diminishing marginal returns set in 












2. (10pts) True or false? A perfectly competitive firm that earns zero economic profit in the short run will exit the industry in the long run because it cannot make any profit. Explain your answer. 











3. (a) (15pts) Draw the short run cost curves for a firm, including its marginal cost, average total cost, and average variable cost curves. Assume that diminishing marginal returns do set in. 




























(b) (20pts) Assume the firm operates in a perfectly competitive industry. Suppose that the price set in the industry is below the firm's break-even point, but above the shut-down point. On the graph with your short run cost curves, draw the marginal revenue curve for this firm. Indicate the quantity that this firm produces in the short run. On your graph, show the area that represents the profits or losses the firm makes, and state whether this area represents a profit or a loss. 

(c) (10pts) If the other firms in the industry have the same costs as this firm, what will happen to the price in the long run? Explain. 






4. Suppose a monopolist can separate the market for her good into two segments: the demand for her good on the part of students, and the demand for her good on the part of everyone else. The demand curves for each market segment are given below. 

(a) (5pts) On the blank graph on the right, draw the monopolistÕs market demand curve, i.e. the demand curve for the entire market, composed of students and everyone else. 

Suppose this monopolist can price discriminate by charging one price for students and one price for everyone else. Assume she has a constant marginal cost of $10, and no fixed costs. 

(b) (10pts) On the graph on the left, show the price the monopolist charges students, the quantity she sells to students, and the profits she makes selling to students. 

(c) (10pts) On the graph in the middle, show the price the monopolist charges everyone else, the quantity she sells to everyone else, and the profits she makes selling to everyone else. 

(d) (5pts) On your left and middle graphs, show the price discriminating monopolistÕs dead-weight loss.
